B.Tech. VI sem. (Main) Examination, June - 2023
Computer Science & Egg.
6CS3-01 Diglul Image Processing
D,

Maximum Marks : 70

; JW qmﬂons From Part A, five questions out of seven questions
ﬁ'bm m. 3 and l'hrea questions out of five questions from Part C .
S agram must be shown wherever necessary. Any data you feel missing
Mabfy-be mwne# and stated clearly. Units af quantfnes used/calculated must
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Attempt any five
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questions;
processing. Also

¢omn ling and quantization process in digital 1mage
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e Input Image
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Here r, 'a‘nd Z, are gray values, and P(r,) and P(Z,) are the corresponding
probabilities of occurrence.

3. Compress the following simple 48, 8 bit image using Huffman coding. Also obtain:
a)  Average code length
b) Coding redundanﬁy--and-.'e_umpmssinn;-ratfi&' : _
¢) Entropy of the source. ' g{ 7
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25 | 25| 30 [ 65-| 100]120|180]240] 240
_ @ What is the need of homomorphic filter in image processing? Explain the steps
used in homomorphic filtering with a suitable example.
5. What is the relation between relative data redundancy and compression ratio in
data compression? Calculate average number of bits/pixel for the following encoded

image:
Gray value (r)) Probability (P(r)) | Code Word
85 025 01
130 0.4 :
180 _ 0.25 000
255 0.1 001
All other gary values 0 - i
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